Math 2 — Honors Name

Unit 1 - Geometric Transformations Date Pd
Unit Review

For each transformation, state the coordinates for each:

————

B - Image of (Bc,y) ] Image of (1,4) Inrlage Of( 2 7)
| 1. Reflect over y — axis T 7 RQ ] (—[i L] > N
2. Reflectover x — axis ] RN ( | - LD Q Jj i
3. Reflectovery = x | % CLllAI D (7 oﬂ

4. Reflectovery = —x o ““_g\ (—LT— D (——) ;D

5. Rotate 90° clockwise about the origin | i}; (Y ,'l— ) )

6. Rotate 90° counterclockwise about L) Q;J Sl l
 the origin ) | Q\"i} ( | J\) (—’)/-OD ]
_:/; Rotate 180° about the origin (\\s m\; ( — \ }_ LD ( Q - 'W

8. Rotate 270° about the origin AN ( L\ —| (7 93

* For each of the following, graph and label the image for each transformation described.

* Then write using the correct notation.

8. Reflect over the liney = —1 9. Rotate 180° about\She origin 10. Translate right 4 units & Q»
(U5ﬂ ng VU down 3 units
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* State whether the specified pentagon is mapped to the other pentagon by a reflection, translation,
or rotation

' 1 2
11. Pentagon 1 to Pentagon 3 & O%O\ﬁ m

12. Pentagon 5 to Pentagon 6 \(() Q \U\_h 0\(\ 3 4 |

13. Pentagon 2 to Pentagon 5 '\"( (“\S \ O\'\'\G‘{\ )

14. Pentagon 1to Pentagon 2 (K&kp C\'\Q(\ < 5 6 ,)
15. Pentagon 4 to Pentagon 6 {O*ﬂ\'\bt\ _“ -
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* Perform each of the transformations using the set of points below for #16-19.

1 {(le—,\—z;) (066) (=23)}

16. Reflect over the Yy — axis 18. Rotate 90° counter — clockwise

MO0, 6) C'(2,3)| A (42)86w0 ) ('3

17. Reflect over the liney = —x

AU B o) Ga) i\ 4353 (0,3) (' (1, .5)

¢ Answer each of the following.
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- -2 43 \ 5
. If translation (5,—%33) - (=4,0),then (8,2) » (_—\ _ )

21.

[y

IfT:(x,y) = (x =5, y+ 2)and the point @(7, —6), then find the point F. Ql a ] - X>
— FS 3o o bacpunds )

22. M is reflected over the y — axis. If M is (6,—1), find M".

. 23. (Cis rotated about the origin 90°. If " is (-9, 5), find C. ( 6 J q>
PO o 3mar._(0,3)
24. Y is rotated counterclockwise 180°. If the image of Y’ is (0, -3) find Y. 4

25. Afigure is reflected over the liney = x. If the preimage is (2, 7), find the image. l —),, &\)

26. AABC has vertices A(5,-2), B(—4,0), €(7,1). | 27. Dilate AABC using a scale factor r =

A

{" R R G R .”AI'" T F 0 3
A o .
Find the coordinates of the image of the triangle 1 = % (_ %/ U>
if it is dilated by a scale factor r = 3. | [
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Explain whythg two triangles are similar. & ( \J lj
' Cotfesqonding Sicin ard {iogoctional
Lot(esgonding Sicle A fagalle]
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28. ABCD is dilated by a scale factor of r = 2 to produce A'B'C'D’. B~ \

The lengths of the segments of the preimage are as follows: /\ \
AB=6 BC=5 (D=3 AD =4 ’ \
AR = 1A AT - — A=)~ a7 N c
=10 B0 0 =G =g < %L
a. Whatis th\e I<E7th of B'C'? \

\/

—_— D--
b. What is the length of A’B’?

|k

c. Ifthe slope of CD is % what is the slope of C’D"?

What allows you to make this conclusion?

\/?) ~ Figules o QO(O\\\Q\ UQ“QSQ'D\\A'\(\Q Siduy
o ~S

29. PQRST ~ UWXYZ with a scale factor of 2: 5. If the perimeter of UWXYZ is 40 inches, what is the perimeter

of PQRST? VeEsT 2 x _{)/QV_’S_:I_
VW2 5 ) YWxY L
=54

30. For each problem, there is a composition of motions. Usin?your §gebraic rules, come up with a new rule
after both transformations have taken place.

),

a. Translate a triangle 5 uni

left and 3 units up, and then reflect the triangle over the x — axis.

b. Translate a triangle 2 units right anthZunits down, and then rotate 90° clockwise.

B e 90 degrees counterclockwise, and\then reflect in the line y = x.

d. Reflectintheline y =-x,and then translate right 4 units and down 2 units. - Q/ Q)

/R% O{O'\(\%W Cunngostied o (3(0@\ Qe \}S\&\@\{r\éﬁao

31. An equilateral triangle with sides of length 12 cm is reflected consecutively across two lines that are parallel
and 12 cm apart. Describe-the result using another ‘gﬂa of transformation. B( '
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32. The diagonals of Regular

Fill in the Correct letter

[oV]

. Rotate 60° clockwise: F —

l

o

[}

o

l

m

bagal

‘) Solve:
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. If a translation maps A4 to B, then it also maps 0 to

E

. Rotate 1};{ clockwise: F — O
. Rotate 60° clockwise: £4 - B

L

n ABCDEF form six equilateral triangles as shown.

3%06= (40° = (o0t

after the given transformation:

D

- Rotate 60° counter — clockwise: D -

| frgle A F

<X

and E to __0_
A reflection occurs over FC, B maps to D and F maps to X: .

I 134. 2x + 6 = 4(x + 8) 35. 2x+iy1=6
B e It o= Yxr 30 y= x+3
J3) = U -y = ax Des s
o = Hy > _7° (-3.4)
(o= dlx ESSE
E 2x + 3y = = . 6x—8y =50 -
il - P L R R

el

(73, 3@

(7.-1)
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SECONDARY MATH1 // MODULE 6

TRANSFORMATIONS AND SYMMETRY - 6.3

SET

Topic: Reflecting and rotating points.
On each of the coordinate grids there is a labeled point and line. Use the line as a line of
reflection to reflect the given point and create its reflected image over the line of reflection.

3.
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4.
Sloge et given W
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6.3

(Hint: points reflect along paths perpendicular to the line of reflection. Use perpendicular slope!)
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Reflect point € over line I and label the image €’

For each pair of point, P and P’ draw in the line of reflection that would

L
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P onto P'. Then find the equation of the line of reflection.

7.
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8.
Fiod Slope Yetween
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Reflect point D over line m and label the image

need to be used to reflect

wh

L

Nvl mathematics

vision project



ﬂi@wﬁh
= =%

USL m\dpo\‘(\«ws@w fr b
(3))

\=-2(2)th
1= -bD
)VU YU

.H! n= |



